Final Year B.Com. Examination, May/June 2009

(RSS)
COST ACCOUNTING
Date : 30-5-2009 Max. Marks : 90
Time : 9.00 a.m. to 12.00 noon
PART - A
Won- 0

Answer any three questions. Each question carries 15 marks.
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1. Distinguish between cost accounting and financial accounting. Explain the
various methods of costing.
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2. Explain different methods of wage payments.
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3. A factory produces a standard product from the following information. Prepare
the Cost Sheet for the year ended 31.12.07.

Raw Materials : Rs.
Opening stock 1,00,000
Purchases 8,50,000
Closing stock 40,000
Direct wages 2,00,000
Work-in-progress :

Opening stock 1,00,000
Closing stock 80,000
Sale of scrap 20,000

Factory overheads 100% on direct wages. Office overheads 10% on works cost.

Direct expenses Rs. 1,00,000.
P.T.O.



Selling and distribution expenses Rs. 20 per unit sold.
Opening stock of finished goods : 1,000 units valued at Rs. 1,60,000.

Sales during the period 9,000 units. Unsold finished units 2,000.
Income tax Rs. 50,000 and donation Rs. 20,000 paid during the year.

Find out the selling price per unit on the basis that profit make up is uniformly

made to yield a profit of 20% on selling price.
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4. Hindustan Ltd. furnishes the following information in relation to one of its
contracts. The contract commenced on 1.1.2006 and was completed on
31.12.2007. The contract price was agreed at Rs. 13,25,000.

2006 2007
Materials i1ssued 3,15,000 2,885,000
Direct wages 3,75,000 3,45,000
Direct expenses 25,000 10,000
Indirect expenses 15,000 16,000
Work done but not certified 8,000 Nil
Work certified 7,30,000 13,25,000
Materials at site on 31 Dec. 5,000 8,000
Plant issued on 1 Jan. 20,000 5,000

Depreciation on plant to be charged at 10% p.a., on original cost. 85% of the
work certified was received in cash except in the year of completion. Prepare
Contract A/c and Contractees A/cs.
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5. A product passes through three processes X, Y and Z. The normal wastage of
each process is X - 3%, Y - 5%, and Z - 10%. The wastage of X was sold at
Re. 1 per unit, that of Y at Rs. 2 per unit and that of Z at Rs. 4 per unit. The
expenses were as follows :

10,000 units were introduced to X at Re. 1 per unit.

Processes
X Y Z
Rs. Rs. Rs.
Sundry materials 1,000 1,500 500
Direct wages 5,000 9,000 7,000
Direct expenses 1,000 1,200 2,000
Output (in units) 9,500 9,100 8,100

Prepare Process A/c, Abnormal loss A/c, Abnormal gain A/c.
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PART - B
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Answer any three questions. Each question carries 10 marks.
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6. Define overheads. Explain its features.
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7. Distinguish between periodical inventory and perpetual inventory.
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8. From the following information calculate the Machine Hour Rate.

Cost of the machinery Rs. 1,20,000
Estimated scrap value Rs. 10,000
Estimated life period of machinery 10 years
Working hours per annum 2000 hours

Machinery maintenance and repairs time 240 hrs.

Annual repair charges Rs. 2,500

Power charges 20 units per hour @ Rs. 4 per unit.

Indirect expenses per month Rs. 650
Insurance premium per annum 1% on the cost of machinery.

Chemical expenses incurred to the machinery Rs. 190 per month which is to be
charged as variable expenses.
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9. From the following information prepare Stores Ledger Account as per FIFO
method.

1 January, 2009 Opening Stock 200 units @ Rs. 4 each
Purchases :

5t 7 100 units @ Rs. 4.40 each
100 7 150 units @ Rs. 4.80 each
20t 7 180 units @ Rs. 5.00 each
Issues :

2" January, 2009 150 units

7 7 100 units

2t > 7 100 units

28h 7 200 units

On 15" Jan. returned to stores 50 units. On 31° Jan. stock verification revealed a
shortage of 20 units.
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10. From the following figures prepare a Reconciliation statement.

Rs.
Net profit as per Financial books 63,780
Net profit as per Costing books 66,760
Factory on cost under-recovered in cost 5,700
Administration cost recovered in excess 4,250
Depreciation charged in Financial books 3,660
Depreciation recovered in costing 3,950
Interest received but not included in cost 450
Income-Tax provided in Financial books 600
Bank interest credited in Financial books 230
Stores adjustments (Cr.) in Financial books 420
Depreciation of stock charged in Financial A/cs. 860
Dividends appropriated in Financial A/cs 1,200

Losses due to theft provided only in Financial books 260
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Answer any three questions. Each question carries 5 marks.
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What are the functions of stores department ?
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Write a note on labour turnover.
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Write a note on ABC Analysis.
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From the following particulars calculate earnings under Halsey and Rowan plan
if time taken is 12 hours, standard time allowed 20 hours. Time rate

Rs. 40 per hour.
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From the following information calculate :

a) Labour cost variance

b) Labour rate variance

Standard hours 80 @ Rs. 6 per hour, actual hours 100 @ Rs. 8 per hour.
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